
 

 
 

INSTRUCTION MANUAL 
 

ITEM NO.: EP-13401 
40L VACUUM CLEANER 

(FOR AIR & ELECTRIC TOOLS) 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

EP-13401-I-1612B-KD 















EP-13401 40L VACUUM CLEANER (FOR AIR & ELECTRIC TOOLS)

EP-13401-P-2408D-KD



EP-13401 40L VACUUM CLEANER (FOR AIR & ELECTRIC TOOLS)

PARTS LIST

 No. Parts No. Description Q'ty  No. Parts No. Description Q'ty

1 EP13401-01 Handle 1 42 EP13401-42 Cloth Filter 1

2 EP13401-02 Screw (3/16*1) 2 46A EP13401-46A Automatic unit for Pneumatic tools- Single Hose use only 1

3 EP13401-03 Switch 1 48 EP13401-48 Inlet 1

4 EP13401-04 Switch 1 49 EP13401-49 10GL Stainless Tank 1

5 EP13401-05 Receptacle Plug 1 50 EP13401-50 Screw (8.5*4.8*6.5) 6

6 EP13401-06 Screw (M4*12) 4 51 EP13401-51 Washer (5*10*1.0) 6

7A EP13401-07A Socket With Cover 1 52 EP13401-52 Tank Holder 3

8 EP13401-08 Head Cover 1 53 EP13401-53 Screw (3/16*1) 4

9 EP13401-09 Cord Guard 1 54 EP13401-54 Screw (3/16*1/2) 2

10 EP13401-10 Control IC 1 55 EP13401-55 Clasp 1

11 EP13401-11 Screw (5/32*3/8) 4 56 EP13401-56 Screw (8.5*4.8*6.5) 2

12 EP13401-12 Control IC Switch Cord 1 58 EP13401-58 Tank's Handle 2

13 EP13401-13 Control IC Switch Cord 1 59 EP13401-59 Screw (5*30) 2

14 EP13401-14 Cord 1 60 EP13401-60 Washer (5*12*1.0) 4

15 EP13401-15 Cord 1 61 EP13401-61 Hose Basket 1

16 EP13401-16 Cord 1 62 EP13401-62 Push Cart Handle 1

17 EP13401-17 Cord 1 63 EP13401-63 Closed End Nut (5*6) 2

18 EP13401-18 Cord 1 64 EP13401-64 Spring 2

19 EP13401-19 Cord 1 65 EP13401-65 Trolley Brace-R 1

20 EP13401-20 Silence Cover 1 66 EP13401-66 Washer (5*10*1) 8

21 EP13401-21 Guard Cover Sealing 1 67 EP13401-67 Screw (5*30) 4

22 EP13401-22 Screw (5/32*1-1/2) 4 70A EP13401-70A Tank Stable 1

23 EP13401-23 Guard Cover 1 71 EP13401-71 Closed End Nut (5*6) 4

24 EP13401-24 Outlet Sealing 1 72 EP13401-72 Trolley Brace-L 1

25 EP13401-25 5mm Motor Gasket 1 73 EP13401-73 Trollet Seat 1

26 EP13401-26 Motor 1 74 EP13401-74 Stick (13*403) 1

27A EP13401-27A Cord 1 75 EP13401-75 Wheel 7.5" 2

28 EP13401-28 3mm Motor Gasket 1 76 EP13401-76 Washer (1/2*23*2.0) 2

29 EP13401-29 Motor Seat 1 77 EP13401-77 E9 Ring 2

30 EP13401-30 Plastic Sealing 1 78 EP13401-78 Washer (3/8*25*2) 2

31 EP13401-31 Tank Cover 1 79 EP13401-79 Screw (3/8*3/4) 2

33 EP13401-33 Screw (4*68) 4 80 EP13401-80 Wheel 3" 2

34 EP13401-34 Float Seat 1 81 EP13401-81 Collector Paper Bag 1

35 EP13401-35 Screw (5/32*1/2) 3 82 EP13401-82 5M Hose Ass'y 1

36 EP13401-36 Paper Filter 1 83 EP13401-83 Motor Ground Wire 1

37 EP13401-37 Washer (5*10*1) 2 84 EP13401-84 Screw (M4*8) 1

38 EP13401-38 Screw (5/32*3/8) 2 85 EP13401-85 Screw BH (5*16) 1

39 EP13401-39 Stainless Spring 2 86 EP13401-86 Cord Fixed Buckle 1

40 EP13401-40 Paper Filter Holder 1 87 EP13401-87 Nut M5 1

41 EP13401-41 Cloth Filter Frame 1 88 EP13401-88 Cover 1

EP-13401-P-2408D-KD



 

 

EU Declaration of Conformity (DOC) 
 

 

We: SUMAKE INDUSTRIAL CO., LTD.  

4F, No. 351, Yangguang St., Neihu District, Taipei City, Taiwan    

 

 

 

   declare in sole responsibility that the equipment 

Equipment： VACUUM CLEANER 

Model/ Serial No.： EP-13401 

 

 

 

The object of the declaration described above is in conformity with the relevant union 
harmonization legislation: 

 Machinery Directive 2006/42/EC 

 Electromagnetic Compatibility 2014/30/EU  

 RoHS 2011/65/EU 

 

 

The following harmonised standards and technical specifications have been applied: 

 EN ISO 12100:2010 

 EN 60204-1:2006/AC:2010 

 EN 61000-6-2:2005 

 EN 61000-6-4:2007/A1:2011 

 

 

 

 

 

 

 

 

         Name and Signature/Position                                                         Date and Place  

 

2022/12/1 

                                          

Mike Su – Managing Director                                             Taipei, Taiwan 

EP-13401-D-2307B-KDF 



 



NOTE 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.SUMAKE.com 

www.aircompressors.com.tw 


	EP-13401-I-1612B-KD (掛勾).pdf
	EP-13401-1 20161226
	EP-13401-2 20161226
	EP-13401-3 20161226
	EP-13401-4 20161226
	EP-13401-5 20161226
	EP-13401-6 20161226
	EP-13401-P-1507B-KD (掛勾)

